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They were particular with each other  — 777 ¥ 777 7o8pR 1I7R

OVERVIEW

3"awA requires that 1"92 be said X*2w7% X1aan since there were hostilities
between them. N1©0IN anticipated question is; there were hostilities between
292 777 and nevertheless there is no requirement to say 1"92 between 7377
293, Why is X°1137% X131 any different?

mooIn explains:
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And their hostilities (of the two n1°112377) were greater than the hostilities

between 77797 and 9993, The traffic between the n11mii was so limited that it is
highly unlikely that there would be 1°°p% 7187 0>7v. Therefore, there is a 21°17 to say 1"92
X>11MA772 Rt even though that 99935 77371, there is no 2.

SUMMARY

The difficulty of traveling between the two N7 was greater than
traveling between 92 17w, Therefore, between 2°93 77 there is no 2vn
of 1"93, since there are sufficient travelers that there will be 1277 7181 277V,
However, between the n1°11m37 the traffic is so restricted that there are no
MY 113 o7y, Therefore, 192 N°AX is required.

THINKING IT OVER
Do the 1127 and x"awn dispute each other concerning: a) 7°2372 a77°1? b)
XM X!

' See nwn nom.
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